PRE BOARD 2 (2023-2024)
CLASS 10 = MATHEMATICS (STANDARD)
TIME ALLOWED: 3 HOURS :\ = MAXIMUM MARKS: 80
GENERAL INSTRUCTIONS: \\ﬂ = A ! LO
Read the following instructions carefully: J N

1) This question paper contains 38 questions.
2) Question paper is divided into FIVE sections - A, B, C, D and E.
3) In section A, Q1 to Q18 are MCQs and Q19 and Q20 are Assertion-Reason based questions of 1 mark each.
4) In section B, Q21 to Q25 are Very Short Answer type questions of 2 marks each.
5) In section C, Q26 to Q31 are Short answer type questions carrying 3 marks each.
6) In section D, Q32 to Q35 are Long Answer type questions of 5 marks each.
7) In section E, Q36 to Q38 are case based integrated units of assessment questions carrying 4 marks each (1+1+2),
Internal chmce Is pruwded in2 marks questtun in each case-study.
3) There is no overall choice an internal choice has been provided in 2 questions in section B, 2 questions
|3 questions in section E.
red. Take [T = 22/7 wherever required, if not stated.
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s and 4 cards of spades are missing from a pack of 52 cards. A card is drawn at
smaining pack. What is the probability of getting a black card?

(c) 24/52 (d) 24/56 SN C e
rele with radius 42cm and of angle 30° "
(c) 22cm’ (d) 220cm?
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ent of Assertion (A) is followed by a statement of Reason
‘the following:
1 to 17 and one card is then drawn at random. Then

sue and (R) is correct explanation of (A). ’
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SECTION - B
Very short answer type questions from 21 to 25 carrying 2 marks each.

%’ In a right angled triangle PQR, 2Q = 90°. Find the value of tan P - cot R,

OR
Evaluate: tan?30°.s5in30" + cos 60°.5in?90°, tan’60° - 2 tan 45° cos? 0°.5in 90°

\}1{2 An integer is chosen between 70 and 100. Find the probability that it is:
(1) A prime number (I1) Divisible by 7

}K_ Write whether Jsiedves on simplification gives an irrational or rational number,

2V5
\ﬁﬂ/ find the value of ‘k’ for which the quadratic equation2kx” - 40x + 25 =0 has real and equal roots.
OR
of the roots of the quadratic equation (x+5)% = 2(5x-3)

f the polynomial 2x* + 5x -4. Without finding the actual values of ‘p" a

OW your steps.

SECTION-C

rrying 3 marks each.
\ is a tangent to the circle with center O and PCB is a

‘measure of 2OBC. Give valid reasons.

sf 480 km at a uniform speed. If the speed had been 8km/hr less, then i
< more to cover the same distance. Find the original speed of the train.

TQ are drawn to a circle with centre ‘O’ from an ,/g, ———
s the J.‘_‘r‘;' PQ B L ,ff .li.lk\. \\
. ..;""f F r \ '|
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y upcoming marathon. She decided to gradually increase the
1 and increased the duration by 5 minutes every day. From
% hours or more? Show steps.

L Find the 25" term of the A.P.

identitysec?@ = 1 + tan 20

-

 sin 0.cos 0
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Quastions 32 to 35 carries & g gh takes 2 minutes to change the angle of

n 100m hi .
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elevation of the top of the lighthouse
minute. (use V3 = 1.732)

SECTION - D

OR

\?ﬁm the top of a tower 150m high,
ngles of depression 30° and 45° respect

1.73)
‘}J In two triangles ABC and PQR, if AB, AC and median AD are

A
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97/ Shalini is an interior designer. To design her own living room,
s she designed wall shelves. The graph of the Iintersecting wall

shelves is given here:
A) Find the co-ordinates of the mid-point of the line segment

joining D and H.
B) Find the ratio in which the x-axis divides the line segment

joining the points A and C.

C) Check if the points B and Q are equidistant from D. R o e S y
OR (77T T (60 gy Y e
What is the area of trapezium APCB? '-"fl;' 57 (M B ¥ g
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8 /A ferris wheel is a rotating upright wheel with multiple passenger cars attached to the rim. The
passenger cars are installed at equal distance from each other. Neeraj takes a picture of a ferris

WVILLE

of the picture and labels some points to make some calculations as

WO consecutive passenger cars. The centre of the wheel is

of different colours.

jltiplied with to get the area of major sector
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